. Find the bounds of the sequence a, =
3 -1

. Find the bounds of the sequence a, =
3n? —n.

. Does the sequence a, = % converge?
Why?

. Does the sequence a,, = ”n—*;l converge?
Why?
Does the sequence a, = (£)2 con-
: q W= (<

verge? Why?

10.

Convergent and Bounded Sequence- Worksheet

n—1
oes the sequence a, = 5— CON-

D the seq 272
verge? Why?

2
Does the sequence a, = % con-
verge? Why?
Does the sequence a, = (—2)""! con-
verge? Why?
Does the sequence a,, = “=* converge?
Why?
Does the sequence a, = - converge?
Why?
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